
See how many words you can 
make from the letters in  

CHIROPR ACTIC 

1 2 3 4 5 6 7 8 9
M A E G I N T L N

9 - 7 =

4 x 2 =  

10-5 =

12 ÷ 3 =

6 + 3 =

7 - 6 = 1 

14 - 11 =

3 x 2 =

14 ÷ 2 =

M

Chiropractic Math

KEY

Spot   5   Differences

Word Match
VERTE 	 PRACTIC

ADJUST	 ERATION

CHIRO	 MENT

NERVOUS	 BRAE

DEGEN	 PEUTIC

DETOX	 SYSTEM

THERA	 IFICATION

Why did the  
computer visit a 

chiropractor?

HA!
HA!
HA!
HA!

Because it had a slipped disc!
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Make your way
through the

AMAZING BRAIN!

Answers:

Chiropractic Math: 2, 8, 5, 4, 9, 1, 3, 6, 7 = A L I G N M E N T
Word Match: Vertebrae, Adjustment, Chiropractic, Nervous System, Degeneration, Detoxification, Therapeutic


